

Execution Date

Notice to Proceed Date

Work Begin Date

Adjusted Completion Date

Original Completion Date

20190110

20190211

20190412

20191101

20191101

Contractor's Payment Estimate Summary

<i>□</i> −		Contract ID	Estimate Number	Pay Period Start	Pay Period End	Date General	ted Estim	nate Type	Dist	ict Org. C	ode
		181214-B03	0005	May 31, 2019	June 15, 2019	June 17, 201	19 P	ROG	NE	ВСГ)
	Contractor		Vendor ID	Addres	ss	City	State	ZIP	Tel	phone	FAX
Z 111	nerstall Construction Co.		0011379	4923 S Point Roa	d \//c	shington	MO	63090	(63-6)2	30.2	(63-6)2-

Job Number	Federal/State Project Number	Description of work	Route Number	County	Location of work
J2P3228	FAS S201(31)	Slide repair	19	MONTGOMERY	at the southeast corner of the intersection with the I-70 so uth outer road near New Florence

0 1		17			51111		
Critical Date	Actual Date	Key Date	Subject	Date Contractor Assumed Maintenance	Disturbed Area on Project	Authorized Area on Project	
Open to Traffic Date	0				0	0	Ac
Price Adjustments Base Date	0						
Physical Work Complete Date	0						
Substantial Work Complete Date	0						
Final Acceptance Date	0						
Contract Items Complete Date	0						
Letting Date	20181214						
Award Date	20190110						

Totals by Job Number				
J2P3228		To Date	Previous	This estimate
	Participating	\$212,431.10	\$134,617.40	\$77,813.70
	Non- Participating	\$0.00	\$0.00	\$0.00
	Total Earnings	\$212,431.10	\$134,617.40	\$77,813.70
	Stockpiled Materials	\$12,144.73	\$12,144.73	\$0.00
	Gross Earnings	\$224,575.83	\$146,762.13	\$77,813.70
	Other	\$0.00	\$0.00	\$0.00



Contract ID	Estimate Number	Pay Period Start	Pay Period End	Date Generated	Estimate Type	District	Org. Code
181214-B03	0005	May 31, 2019	June 15, 2019	June 17, 2019	PROG	NE	BCD

			101214 000	0000	Way 01, 2010	0dile 10, 2015	ounc 17, 2015	11100	142	ВОВ	
Totals by Job Number											
	Adjustmen	ıts									
	Retainage			\$0.00			\$0.00				\$0.00
	Incentive			\$0.00			\$0.00				\$0.00
	Disincentiv			\$0.00			\$0.00				\$0.00
	Liquidated Damages			\$0.00			\$0.00				\$0.00
	Overrun Adjustmen	ıts		\$0.00			\$0.00				\$0.00
	Total:		\$2	224,575.83			6,762.13 Payable:				\$77,813.70

Total Contract				
181214-B03		To Date	Previous	This Estimate
	Line Item Pay	\$212,431.10	\$134,617.40	\$77,813.70
	All Adjustments	\$12,144.73	\$12,144.73	\$0.00
	Total	\$224,575.83	\$146,762.13	\$77,813.70

If the "This Estimate" total is greater then \$100.00, this is a Pay estimate. If the "This Estimate" total is equal to \$0.00, this is a No Pay estimate. If the "This Estimate" total is between \$100.00 and \$0.00, this is a Minimum estimate and no payment will be made. This estimate will be rejected. If the "This Estimate" total is less than \$0.00, this is a Negative estimate and no payment will be made. This estimate will be rejected. You will be notified should this estimate be rejected for reasons other than those listed above.

Approval Date		User ID
20190617	Generated and Approved (and should be considered Draft) at the Project Office Level by	haggaj1
20190618	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by	domzar
20190619	Reviewed and Approved at the Central Office Controllers Office Level by	greggd1

Original Contract Amount	Net Change Order Amount to Date	Current Contract Amount	% of current contract amount complete
\$384,031.00	\$0.00	\$384,031.00	55.3%

Contract Adjustments:

Line Item Adjustments:

Discrepancies:



Contract ID	Estimate Number	Pay Period Start	Pay Period End	Date Generated	Estimate Type	District	Org. Code
181214-B03	0005	May 31, 2019	June 15, 2019	June 17, 2019	PROG	NE	BCD

All Items, Th	nis Estimate:									
Project Number	Line Item Number	Item Code	Description	Unit Price	Previous Total Paid Quantity	Quantity this Period	Quantity to Date	Amount this Estimate		
J2P3228	0020	2031000	CLASS A EXCAVATION	\$8.00	3560.00	2262.00	5,822.00	\$18096.00		
	0040	2142000	FURNISHING ROCK FILL	\$17.80	1846.00	2394.00	4,240.00	\$42613.20		
	0050	2143000	PLACING ROCK FILL	\$5.50	1846.00	2394.00	4,240.00	\$13167.00		
	0160	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	\$2.50	1325.00	1575.00	2,900.00	\$3937.50		
J2P3228										
	Summary									

Estimate	Item Deta	il, All Iter	ns to Date	:				
Project Number	Category #	Line Number	Item Code	Description	Current Bid + CO	Current Installed to Date	Unit Price	Amount Paid to Date
J2P3228	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	1.00	\$3900.00	\$3,900.00
J2P3228	0001	0020	2031000	CLASS A EXCAVATION	11,220.00	5822.00	\$8.00	\$46,576.00
J2P3228	0001	0030	2072000	LINEAR GRADING CLASS 2	2.00	2.00	\$2500.00	\$5,000.00
J2P3228	0001	0040	2142000	FURNISHING ROCK FILL	7,704.00	4240.00	\$17.80	\$75,472.00
J2P3228	0001	0050	2143000	PLACING ROCK FILL	7,704.00	4240.00	\$5.50	\$23,320.00
J2P3228	0001	0060	6122009	IMPACT ATTENUATOR 45 MPH (SAND BARRELS)	2.00	2.00	\$2293.00	\$4,586.00
J2P3228	0001	0070	6122020	REPLACEMENT SAND BARREL	4.00	0.00	\$250.00	\$0.00
J2P3228	0001	0080	6161005	CONSTRUCTION SIGNS	224.00	224.00	\$8.50	\$1,904.00
J2P3228	0001	0090	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	2.00	\$35.00	\$70.00
J2P3228	0001	0100	6161009	FLAG ASSEMBLY	4.00	4.00	\$20.00	\$80.00
J2P3228	0001	0110	6161025	CHANNELIZER (TRIM LINE)	40.00	40.00	\$20.00	\$800.00
J2P3228	0001	0120	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CON TRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	2.00	\$1800.00	\$3,600.00
J2P3228	0001	0130	6173600D	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	1,060.00	1060.00	\$22.75	\$24,115.00
J2P3228	0001	0140	6181000	MOBILIZATION	1.00	0.75	\$21010.80	\$15,758.10
J2P3228	0001	0150	6189902	MISC. ADDITIONAL MOBILIZATION FOR SEEDING	2.00	0.00	\$600.00	\$0.00
J2P3228	0001	0160	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	5,064.00	2900.00	\$2.50	\$7,250.00
J2P3228	0001	0170	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	\$2150.00	\$0.00



Contract ID	Estimate Number	Pay Period Start	Pay Period End	Date Generated	Estimate Type	District	Org. Code
181214-B03	0005	May 31, 2019	June 15, 2019	June 17, 2019	PROG	NE	BCD

Estimate Item Detail, All Items to Date:													
Project Number	Category #	Line Number	Item Code	Description	Current Bid + CO	Current Installed to Date	Unit Price	Amount Paid to Date					
J2P3228	0001	0180	8059901	MISC. SEEDING - COOL SEASON MIXTURES	1.00	0.00	\$3000.00	\$0.00					
J2P3228	0001	0190	8059901	MISC. TEMPORARY SEEDING AND MULCHING	1.00	0.00	\$500.00	\$0.00					
J2P3228	0001	0200	8061004	SEDIMENT TRAP ROCK	12.00	0.00	\$50.00	\$0.00					
J2P3228	0001	0210	8061005	ROCK DITCH CHECK	40.00	0.00	\$35.00	\$0.00					
J2P3228	0001	0220	8061016	SEDIMENT REMOVAL	12.00	0.00	\$50.00	\$0.00					
J2P3228	0001	0230	8061019	SILT FENCE	760.00	0.00	\$3.00	\$0.00					
J2P3228	0010	0240	6061060	MGS GUARDRAIL	763.00	0.00	\$24.00	\$0.00					
J2P3228	0010	0250	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	2.00	0.00	\$3000.00	\$0.00					

oject mber	Line	Item	Item Description	Date	User ID	Description/ Information	Quantity	Units	From	+		Offset	Distance	То	+		Offset	Distance	From LM	To LN
01	0020	2031000	CLASS A EXCAVATION	20190611	haggaj1	Route 19 Construction Baseline	1635	CUYD	6	+	0		0	4	+	50		0	0	0
			CLASS A EXCAVATION	20190613	haggaj1	Route 19 Construction Baseline	627	CUYD	4	+	50		0	4	+	0		0	0	0
	0040	2142000	FURNISHING ROCK FILL	20190611	haggaj1	Route 19 Construction Baseline	1968	CUYD	6	+	0		0	4	+	50		0	0	0
			FURNISHING ROCK FILL	20190613	haggaj1	Route 19 Construction Baseline	426	CUYD	4	+	50		0	4	+	0		0	0	0
	0050	2143000	PLACING ROCK FILL	20190611	haggaj1	Route 19 Construction Baseline	1968	CUYD	6	+	0		0	4	+	50		0	0	0
			PLACING ROCK FILL	20190613	haggaj1	Route 19 Construction Baseline	426	CUYD	4	+	50		0	4	+	0		0	0	0
	0160	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	20190611	haggaj1	Route 19 Construction	1575	SQYD	6	+	0		0	4	+	50		0	0	0



Contract ID	Estimate Number	Pay Period Start	Pay Period End	Date Generated	Estimate Type	District	Org. Code
181214-B03	0005	May 31, 2019	June 15, 2019	June 17, 2019	PROG	NE	BCD

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.																		
Project Number	Line	Item	Item Description	Date	User ID	Description/ Information	Quantity	Units	From	+	Offset	Distance	То	+	Offset	Distance	From LM	To LM
J2P3228	0160	6240103A				Baseline												

Remarks in the following table are for documentation purposes:

Date User ID Remarks Text Field